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1. ‘31 + 31 = 7' I8 fore YR At GfY 1 3207 & 2

(A) o w@fy (B) TRdfy (C) = dfy
(D) T Gy (E) STIafd 9sA

2. Choose the most appropriate word to fill in the blank in the given sentence.
The bus service is very good. There is a bus ten minutes.
(A) each (B) every (€) any
(D) most (E) Question not attempted

3.  Select the teratogens and other factors that affect prenatal growth :
(a) Non-prescribed illegal drugs (b)  Excessive quantity of cafeine
(c) Protein-rich diet (d) Extreme heat and humidity
() Milk and milk products
Choose the most appropriate answer from the options given below :
(A) (c) and (e) only (B) (a), (c) and (d) only (©) (b) and (d) only
(D) (a), (b) and (d) only (E) Question not attempted
3 SRS § 3T T 1 994 FITS ST STHYE ghg (M) I FHIGT i ©

(a) STRERI e <o () (b) HEIH H T T

(c) TN §F SRR (d) Tty T 3R S
(e) T¥ IR IY & AR
e R T faeredl § 9 wa9 Suge ST A
(A) FT () ¥ (©) (B) FT (a), () ¥R (d) (©) F (b) 3R (d)
(D) F (a), (b) ¥R (d) (B) SFIARA A
4.  Choose the most appropriate option to fill in the blank in the given sentence.
They are very kind to me. They treat me their own son.
(A) likeIam (B) asifIwas (C) asifIwill be
(D) asif I were (E) Question not attempted

5. P, E, R, S, T are sitting, on a bench facing North. T and E are sitting together. T and R are also
sitting together. P is on extreme left. E is second from extreme right. Who is sitting between P and

E?
(A) RandS (B) TandS (€©) RandT
(D) Tand E (E) Question not attempted

P,E,R,S, T U od T IW ! N J@ ¥k oS &1 T 3R E W o3 § 1 T IR R off w121 93 1 P =g =i
WEIE o I ¥ TR M RTIPRE F " § & 21§72

(A) R3RS (B) T3S (C) RSRT
(D) TSIRE (E) SA7aRd o=
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6.  Which of the following are the tasks of a supervisor in Integrated Child Development Services
(ICDS) ?

(a) Contacting village leaders and important persons.

(b) Organising community meetings.

(c)  Selection of Anganwadi workers and helpers.

(d) Provide formal education to the children of the village.

Choose the most appropriate answer from the options given below :

(A) (@), (b), ()and (d)  (B) (b), (c)and (d) only (©) (@), (c) and (d) only
(D) (a), (b) and (c) only (E) Question not attempted

Integrated Child Development Services (ICDS) # fiiash (guwaEsi) & & FA-HE G §?
(a) T Jawed IR qer SAfaa § Hush wenfd we |

(b) EHEIIS SSehi 1 ST T |

() SrTare Akl 3iR Wl 1 =9 HE |

(d) Tia % =t & forg it e ygE |

e R 77 foshedl # @ HeE IUTSE A H =TI HIST

(4) @), (®), @M@  (B) F (b, (c) ¥ (d) (O F (a), (c) SR (d)
(D) A (a), (b) A () (E) I T

7.  Anitem is sold for X 400 after allowing 20% discount. What would have been its selling price if
only 10% discount is allowed ?

T o 1 20% I T2 o o1& T 400 H o<1 ST ¢ | A< 39 R FHE 10% i T 3 St a1 560601 fasha 9o

<1 Brell ?
(A) R 410 (B) 420 (C) T 440
(D) < 450 (E) Question not attempted / 3TN T
8.  Which conclusion would follow on the basis of given statement ?
Statement : The manager humiliated Mukesh in the presence of his colleagues.
Conclusions : 1.  The manager did not like Mukesh.

II.  Mukesh was not popular with his colleagues.
In the light of the above statements, choose the most appropriate answer from the options given

below.
(A) Only I follows (B) Only II follows
(C) Neither I nor II follows (D) Both I and II follow

(E) Question not attempted
fRu 7T el F SR W B A1 TSR STTER0T AT ?

®YT : HASRK A YR I SHh HeehiHal i Suredfd # STaeita foRa |
fremd : 1L AR RY I UHR G R o |

. Toh¥l 37T FEhHAT oh o= Thidd el AT
ST AT & e d, T KT T foshedl § | wod Suged S g |

(A) <hacl I STTHEIT kM (B) °hdel II 3TTHIOT 6T
(C) MATSRAE N IO HET (D) AT 1 3R I ST H 4
(E) Tgafa w=d
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10.

11.

12.

frefafed 8 9 fFg s vk & 219 - 95, %1, 3, fog onft €2

(A) fo3 (B) &t € fo
(D) (E) ST e
Match List-I with List-II :
List-I List-1I
Vitamin Function
(a) Vitamin K (i)  Normal immune system function and production of cells in eye (retina)
(b) Vitamin E (i) Absorption of calcium in the body
(c) Vitamin A (i) Antioxidant
(d) Vitamin D (iv) Blood clotting
geit-1 &l Geli-11 9 gafad St :
geit-1 -1
[ECULE] P
(a) faarf K () sfr@ (fe) =t Sifereptst o1 s iR T wioredt yomedt s
(b) Toafd E (i) TR ¥ hfceem &1 Temi
(c) fearfm A (iii) Hfd-3ATeRdTeRTeR (T SATRITS<)

(d) fgafd D (iv) EfeR T@hed (T8 FAlfen)

Choose the most appropriate answer from the options given below :

== fu T foed! # § WoW 3uged W 9T

(A) (@), B)-Gv), ©-() @-G)  (B)  (@-v), (B)-(d), (©)-), (d)-Gi)
(©  (@)-(v), (b)-(iii), (0)-(ii), (d)-() (D) (a)-(iv), (b)-(3), (c)-(ii), (d)-(ii)
(E) Question not attempted / STTINT I

freafafed s A ge a7

(a) HH B Y Srel T (b) GeIE-YoIg SAMM h{Al ML |

(c) TR 9" H Hich-3iieh Bl Wl | (d) R H A A= TR

() Hyww v @l

e 5T T foehedl # 9 o ST I I = i :

(A) e (b), (<), (d) (B) % (a), (b), (e) (©) e (a), (9), (o)
(D) e (o), (d), (e) (E) STIANT W

59 a1qetl 1 W eTehtie iR WeRter T T H BT 2, 3 A 9l oG hed § ?
(A) W g (B) ifiTh wrg (C) Womee g
(D) SwHfay 9rg (E) oTaid 9ed
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13.

14.

15.

16.

Maternity Benefit Amendment Act 2017 focuses on : (Choose the most appropriate answer)
(A) The need for care of children only up to two years.
B) The need for care of children under three years.
) The need for care of children only up to one year.
D) The need for care of children from three to five years.

(E) Question not attempted
TG oy HeeA Afufem 2017 39 WHfga T 0 (FA o 9 wod Suged S| )
(A) I S I Tk F Tl I G i SR
B) < a9 € HH U % Il hl TG hl SR
C) Had Tk 98 T & Tl i @IS i STALIHRAT
) o & i 9o q% % = R @I Y SRRl

E) oTdRd 9

At what rate of simple interest, a certain sum will increase by upto 36% in 3 years ?

WYR 7S] H, T Tfa afe, T a9 & 999 | 5" X9 36% % d¢ Smai ?

(A) 9% (B) 10% C) 12%
(D) 18% (E) Question not attempted / 3T T
et 1 919 gt 11 1 5 S
T 1 T 11
f&t vrez ((onfinfives w1e ) 3T v
(a) TS (i) Appellant
(b) EfeEm (ii) Clause
(c) A= (i) Code
(d) erdiershal (iv) Accused

e 5T 7T forehedi H 9 HerE SUGS ST hl =TI i :

(A)  (@)-(i), (b)-(iid), ()-(iv), (d)-()  (B) (a)-(iii), (b)-(0), (0)-(iv), (d)-(ii)
©)  @-@v), (b)-(), (o)-(i), (d-Gi) (D) (@)-(@), (b)-(iv), (0)-(id), (d)-(iii)
(E) SFTIRT ¥ed

Deficiency of Vitamin D causes :

(A) Rickets (B) Cancer (C) Night Blindness
(D) Anaemia (E) Question not attempted

T2l =l svHl | € ool I =l ey |

(A) e () (B) ke I (F7) (C) weh

(D)  TRITCHT (E) oTaRd ¥
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17.

18.

19.

20.

it 1% |1 gt 11 1 e i
gt 1 Tt 11
iR SHEIST 91sg & wam
(a) Abstract () HE-HHA
(b)  Affairs (i) hrfeTESR
() Acting (i) WR
(d) Advice (iv) Hcie

= feu U faehed § ¥ Ha® U ST A1 FIH HIT

(A)  (@-(@), (b)-(iv), (0)-(iii), (d)-()  (B)  (a)-(iid), (b)-(i), (c)~(ii), (d)-(iv)
©  (@)-(i), (b)-(iii), (0)-(v), (d)-() (D) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
(B) SIARd v

e’ 9% ot el Suge - fasag frer ® -
(A) fr-ww (B) fm+zw © frw
(D) fufe+ % (B) Tqafd e

Identify the diseases caused by worms in human beings.
(a) Ringworm (b) Amoebiasis (c) Ascariasis
(d) Elephantiasis

Choose the most appropriate answer from the options given below :

(A) (a) and (b) only (B) (c) and (d) only (©) (b), (c) and (d) only
(D) (a), (b) and (c) only  (E) Question not attempted

Wi S B 2R e A ) e A

(a) o (b) et () TeRffad

(d) ferrfzefa

= few T foshedl # 9 we9 Suge ST T ¢

(A) F7 (@) AR () (B) FA () W (d) (©) F (b), (c) ¥ (d)

(D) % (a), (b) 3R (c) (E) eraRd 5e4

Choose the most appropriate option in the passive form for the sentence given.

People advised us not to go out alone.

(A) To get out alone is not advisable. (B) We were given the advise to not go alone.
(C) Iwas advised not to go out alone. (D) We were advised not to go out alone.

(E) Question not attempted

& B62 6
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21.

22.

23.

24.

Match List-I with List-II :
List-I List-II

(a) If something is moving, it is alive (i)  Reflex action
(b) Grasping, sucking, blinking (i) Animistic thinking
(c) Deferred imitation (i) Infancy
(d) Cognitive theory (iv) Piaget
Feir-1 & Gell-11 9 gafed St :
elt-1 Te-11
(a) 3 S TfaAE § @ 9% SHfod § (i)  wfdert foram
(b)  TehSHl, JHAI, UcTeh AU (i) Hshg 9=
(c) Tfitd Tehed (iii) BINEIEEI|
(d) HIAHS THg (iv) T
Choose the most appropriate answer from the options given below :
e fw T forepedi # ¥ Herd SUER ST YT :

(A) (@), (b)-(iD), (0)-(v), (d)-@F)  (B) (a)-(ii), (b)-(iii), (c)-(3), (d)-(iv)
©  (@)-G), B)-v), ©-Gid), (-G) (D) (@)-(id), B)-(), (©-iv), ()i
(E) Question not attempted / 3TITIRA I

Match List-I with List-II :

List-1 List-1I
Word Synonyms
(a) accomplish (i) rude
(b) cordial (i) foolish
(c) arrogant (iii) achieve
(d) absurd (iv) friendly

Choose the most appropriate answer from the options given below :

(A)  (a)-(v), O)-Gi), ©-i), @-6)  (B)  (@)-Gi), B)-v), ©-(), (d)-(i)
(©)  (@)-@), (b)-(0), ()-(iid), (d)-Gv) (D) (@)-(i), (b)-(id), (¢)-(iv), (d)-(iii)
(E) Question not attempted

freafafea § 4 &1 9 TS TR 2 7

(@) ™ (b) ST (c) wiaga
(d) et (e) ford

= fRu 7T forered! H | Ho SUE ST 1 =TT I

(A) 9 (a), (b), () (B) % (b), (c), (d) (©) 4 (o), (d), (o)
(D) 9 (a), (9), (o) (E) STgafa w=d

frfafed fasmed 8 & ' 1fta - sa’ 1% - I o1 Fol 39 219 © -

(A) 3T - o (B) T - AR (C) =& -
(D) gIH ~ THMA (B) SFTRT wed

& B62 7 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

25.

26.

27.

28.

Which of the following is not associated with malnutrition ?

(A) Scurvy (B) Rickets (C) Cancer
(D) Anaemia (E) Question not attempted

=1 8 @ o 1 e § Heifa E@ €2

(A) TERell (B) Tehew (C) HW

(D)  GITeYdl (THITHT) (E) saaa\f{auw

Till what age the reproductive organs of human female are NOT fully mature and the female
hormones are also NOT at the optimum level ?

(A) 17 years (B) 19 years (©) 21 years

(D) 25 years (E) Question not attempted

fohe o119 Tk HTe HIRT o TS S q0 0@ § TRue 7 el ¢ S1 ARl gt off $soad W R =& oid © 7
(A) 17 a4 (B) 19 o4 (C) 2194

(D) 2594 (E) oTfaia yed

What is the importance of immunization for a child ? Select most appropriate answer from
below :

(A) It protects children from obesity.

(B) It prevents children from getting diseases for which there are often no medical treatments.
(©) It prevents children from unhealthy environment.

(D) It prevents children from getting infected.

(E) Question not attempted
T = o T Ffceerento o1 o Heeel § 2 T 3 & Had Suge S T ¢
(A) TE T H HRY F =T 7

(B) I® Sl ! 3 I | I U Foent fafeheda Su=m & 7 |
(C) I8 Tl hl STEIEY AR § T € |

(D) 9§ Al bl UhHHU B F 1T ¢ |

(B) SIuRa o

Identify the category of organized child care from the following :

(a) Babysitter at home

(b) Kindergarten

(c) Creches

(d) Preschools

Choose the most appropriate answer from the options given below :

(A) (a) and (c) only (B) (b) and (d) only (©) (@), (c) and (d) only
(D) (b), (c)and (d) only (E) Question not attempted

frafafad § 9 I=1 & @Y & fau safead =t &1 qg=nfu |

|

(a) TR T H @HA s T /2R

(b) ferreTméa

(c) s (forg T®)

(d) oo fermer

= fRu T foed! # 9 waW 3uged S A ¢

A) A (a) #R (o) (B) e (b) 3N (d) (C) e (a), (c) R (d)

(A)
(D) dd (b), () 3 (d) (E) raRd 5o

& B62 8
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29.

30.

31.

32.

33.

‘ " grTEer ge T ° 9 fohe 9HTE 1 el U SR § ?
9

(A) TG T (B) &% ™ (C) =life
(D) 3TIvE A (E) orgafia e

In an examination, 40% marks are required to pass. A obtains 10% marks less than those required

1 3
to pass. B obtains marks 116% less than those of A, while C obtains 41 E% marks less than sum

of A and B together. What percentage of marks has C obtained ?
Tk el 1 U S % fAT 40 Wi TRl 1 STrEweRdl € | A I U H % AU semgss ikl H 10%

: 1 : 3 .
SFFAICEILI BHIAE 115% %Y 3k T gY, STtk C Sl A 3R B & A H 41— % % 37 T

BT C i foha gferd oieh I g 2
(A) 50 (B) 40 (C) 35
(D) 45 (E) Question not attempted / 3TN T

Mabhesh is ranked 15t from the bottom. When counted from the top, he is ranked 35th, What is the
total number of students in the class ?

T T TIF A= F TUAT H R 1597 § IR el e & 701 BT S A 3541 € | Fel H et fernfeat
e forat § 2

(A) 49 (B) 50 (C) 51

(D) 48 (E) Question not attempted / 3T T

Match List-I with List-II :

List-I List-1I
Word Antonyms
(a) barren (i)  hope
(b)  despair (i) rigid
(c) flexible (iii) arrogant
(d) humble (iv) fertile

Choose the most appropriate answer from the options given below :

(&) (@), (b)-(i1), (0)-(ii), (dD)-(v)  (B) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(3)
©)  @-v), (b)-(), (o)-(i), (d)-GiK) (D) (a)-(id), (b)-(iv), ()-(i), (d)-(ii)
(

E) Question not attempted

‘3T - I’ MR- i/ Fel S 21ef frifena ferehedl § @ i WA B2 ?

(a) TERIgENAT TR (b)) TR () wfaa
(d) derEH

e 5T 7T foehedi H 9 HerE SUTS ST hl =TI i

(A) e (b) 3 (a) (B) el (d) 3 (a) (C) Fae (a)

(D) e (c) 3R (d) (E) Igaia e
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34.

35.

36.

37.

AIDS is caused by :

(a) Sexual contact with infected person

(b) Transfusion of contaminated blood

() From infected mother to child

(d) Sharing bed and clothes

Choose the most appropriate answer from the options given below :

(A) (b), (c)and (d) only (B) (b)and (d) only (€) (a), (b) and (c) only
(D) (@), (c) and (d) only (E) Question not attempted
AIDS B % RO &l =7+ |

(a) EshfHa W & oAfiten duh a9H 9

(b) <t T UM §N

(c) HshfHA |l § HdM =l

(d) o e ue W= KA 9

= fu T foed! # 9 WaW 3uged S A ¢

(A) e (b), () R (d) (B) Fad (b) 3R (d) (C) e (a), (b) ¥R (c)
(D) %99 (a), () ¥R (d) (B) IfaRed wed

Which of the following is not true with respect to malnutrition ?

(A) Severe protein deficiency in children in the age group of 6 months to 3 years may cause
atrophy of muscles and stunted growth.

-

It is the intake of adequate quantity of food required by the body.
) It is the inadequate intake of food both in quantity and quality.

) Protein Energy Malnutrition mostly affects infants and children.
E) Question not attempted

frefafed § 9 &F W FAww & g5 § 98 T8 8 2

(A) 6 TRV 3 T Tk & MY M & Tl § WA o e HHt | AGUR g IR o1aws gis ot T
(B) YRR & g eI HISH okl 3fed A1 hl USU1 HEAT |

(C) I8 YT HIA a1 T[Ural H HISH skl USU 6T |
(
(

)
D) WA it e sAfehaR frggsti SR a=di bt genfad s g

E) Sdid W

‘gt TRH KT HETe 1 Tl SugE 1 ® ¢

(A) &g HFHA (B) 3T F =l (C) =H A
(D) HRYTE T (E) oTfaid 9ed

Fill in the blank in the given sentence by choosing the most appropriate word from the options
given below :

Though the film had bad review, I quite liked it.
(A) the (B) a (€) an
(D) no article (E) Question not attempted
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38.

39.

40.

41.

42.

43.

44.

‘ST @ g e § o v T B W 9 SUged U Vs b1 99 iU
(A)  AvuTe™ (B) HrEd (C) SR
(D) g3t (E) oTqara W

When is an immunization card prepared for a newborn to get vaccinated ?
(A) At the age of six months (B) At the age of six weeks

(C) At the age of nine weeks (D) Immediately after birth

(E) Question not attempted

Teh ToSI1d o fAIU SoRfiT Ut i o ToTu Gfaeeiishion sie ohdl A S © 2

(A) ST HE hl A W (B) o8 UWIE &l 31g W
(C) I @R &t 3T | (D) T % G 94q
(B) STIAG W

Complete the sentence below by choosing the most appropriate prefix from the given, options
below :

It was not just rudeness; they were completely efficient too.
(A) il (B) un (©) in
(D) over (E) Question not attempted

Choose the missing terms, out of the given alternatives.

= feu TTu foshedl o faQ Tere/q 9si 1 =@ hifsie |

A3Z, B8Q, E15], J24E, ?, Z48A

(A) Q35B (B) R35B (C) Q36C
(D) R36C (E) Question not attempted / 3T T

Which of the following commissions has been mandated to monitor the implementation of POCSO
Act, 2012 ?

1 & @ fFg 3w #1 POCSO sifufTm, 2012 % 3fod YR & &N 89 & 3@, & w ¥ ffera
foran T ¥ 2

(A) NCPCR (B) RTE (C) RPWD

(D) NPAC (E) Question not attempted / 3TIARA T

frefafad § 9 S 9 ST wgar=a % I E 2

(a) G T FAA B (b) SIS e 7L ST | (c) S| FD el T4 Sl |
(d) TETEHTMAME () AT IS G T

o feu TTu foaered § § Wa® U ST A1 IIH HIT

(A) F9 (), (b), (©) (B) A (b), (), (o) (C) 9 (a), (d), (o)
(D) A (b), (o), (d) (B) S1gand wed

Most toddlers learn about words between the ages of two and three years.
sTfeeher forg] <1 & i a9 &t g o e I W W E

(A) 500 (B) 300 (C) 100

(D) 200 (E) Question not attempted / 3TITRA I
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45.

46.

47.

48.

I 1% 91 gl 11 1 fiem i
e 1 Tt 11
37Ut orR &t v

(a) Assignment (@  STIIHIH

(b) Bonafide (i) S=EdH HH

(c) Attestation (i) o w

(d) Ceiling I ICLSIEEY

e 5T T foehedi # 9 Wo ST ST I = i :

(A)  (@)-@i), (b)-(i), (c)-(iv), (d)-(iii) (B)  (a)-(ii), (b)-(i), (c)-(iid), (d)-(iv)
Q)  (a)-(iv), (b)-(ii), (c)-(1), (d)-(iii) (D) (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(E) STIARd 7
Tt 1% |1 gt 11 1 e i
Tt 1 et 11
IR UIiEaTen s
() W@ (i) I
(b) T (i) TS
(c) I (iii) SWRAT
(d T (iv)

e 5T T foehedi # 9 o ST ST hl = i :

(A)  (a)-(i), (b)-(iii), (0)-(v), (d)-()  (B) (a)-(iid), (b)-(1), (c)-(iv), (d)-(ii)
(©  (a)-(iid), (b)-(ii), (0)-@), (D)-Gv) (D) (a)-(id), (b)-(iv), (c)-(i), (d)-()
(E) STIARA W
‘e’ T gEtETE v fefafed § 9§ e W @ § 2
(A) faerma (B) TEHN (C)  AfyHrT
(D) =t (B) oaRd e
Match List-I with List-II :
List-1 List-1I
Word Synonyms
(a) Aberration (i) Unnecessary
(b) Perpetual (i) Plentiful
(c) Redundant (iii) Constant
(d) Abundant (iv) Deviation

Choose the most appropriate answer from the options given below :

(&) (@)-(i), (b)-(0), (0)-(it), (dD)-Gv)  (B) (a)-(iv), (b)-(iid), (c)-(3), (d)-(ii)
(©)  (@-(iv), (b)-(i), ()-(), (d)-GiK) (D) (a)-(id), (b)-(1), (c)-(iv), (d)-(ii)
(

E) Question not attempted
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49.

50.

51.

52.

frefafed 9 HHar=a & TR & -

(a) TH G S § | (b) TS TSI STl & | (c) T SIST STl & |
(d) T T SR (e) U H <@ & S |

o feu TTu foaered H§ 9 Wa9 UGS ST AT AT HIT

(A) e (b), (d), (o) (B) % (b), (¢), (d) () e (a), (b), (¢)

(D) %9 (a), (c), (d) (E) STIARd T

Fill in the blank in the given sentence by choosing the most appropriate word from the options
given below :

The secret of her fitness is that she up before sunrise for an hour’s speed walk.
(A) got (B) will get (C) gets
(D) getting (E) Question not attempted

Fill in the blank in the given sentence by choosing the most appropriate word from the options
given below :

I am proud to say that all her efforts have resulted securing the top rank.
(A) from (B) by (©) in
(D) into (E) Question not attempted

Select the health needs of children from the following :

(@) Understanding and acceptance (b) Early stimulation and learning needs
() Nutrition (d) Understanding and ignorance

(e) Supplementary nutrition

Choose the most appropriate answer from the options given below :

(A) (a), (b) and (d) only (B) (c) and (e) only

(©) (b), (d) and (e) only (D) (a), (c) and (d) only

(E) Question not attempted

751 & 9 Sl ol TS SEeAHAS! 1 =T RIS

(a) HHI 3R THR HAT (b) WRRYEH iR TR ST STTavashdny
(c) o (d) TEE iR sAfRa

() I I

= ST T foehedl H @ @erE SUTeRT ST 1 =TI HI

(A) e (a), (b) 3R (d) (B) %9 () 3R (e)

(C) e (b), (d) 3 (o) (D) % (a), (c) ¥R (d)

(B) e1gaia e
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53.

54.

55.

Weaning foods that support the transition from breast milk to regular foods are :

(a) Dalia (b)  Bhindi ki subji (c)  Sooji Kheer
(d) Chapati (e) Khichdi

Choose the most appropriate answer from the options given below :

(A) (), (b), (c) and (d) only (B) (), (b), (c) and (©) only

(€) (@), (c) and (d) only (D) (a), (c) and (e) only

(E) Question not attempted
Y M ardt HISH (3TER) S %A & g4 ¥ Fafia ¥ (3TeR) # ufad &1 gued & €, 98 €

(a) zfe=n (b) =St sl TSt (c) it @R
(d) =t () fa=d

= fu T foeedl # 9 waW 3uged S A ¢

(A) %9 (a), (b), () 3 (d) (B) %9 (a), (b), () 3 (o)

(C) & (a), () 3R (d) (D) & (a), (c) 3R (¢)

(B) rgaiRa wed

A shopkeeper marked every item at 25% higher than its cost price. Then he offers 12% discount on
the marked price. If an item is sold for X 3,850, then how much profit did the shopkeeper earn ?

T GHMER 7 B IR T AT qod § 25% 3ATee oo sifera foran | T a2 siferd goa T 12% &1 g2 <@
71 3af sk a%g T 3,850 I A< S T, A FHMIR A Foha1 eney swwren ?

(A) T 250 (B) ¥ 292 (C) T 328

(D) X 350 (E)  Question not attempted / 3TTIRT T

Match List-I with List-II :

List-1 List-1I
a) Manuscript i) A state of highest perfection
b)

( (

( Theism (i) Book written by hand
(c) Utopia (

(

iii) One who is indifferent to pain or pleasure

d) Stoic (iv) One who believes in the existence of God
Choose the most appropriate answer from the options given below :

(A)  (@)-(i), (0)-(), (0)-(v), (d-Gi)  (B)  (a)-(0), (b)-(id), (o)-(iii), (d)-(iv)
©  (@)-@v), (b)-(iii), (0)-(ii), (d)-() (D) (a)-(ii), (b)-(iv), (c)-(0), (d)-(iii)

(E) Question not attempted
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56.

57.

58.

59.

Match List-I with List-II :
List-I List-II

(a) Samagra Shiksha Abhiyan (i) Female foeticide

(b) Maternity Benefit Act, 2017 (i) SSA, RMSA, Teacher Education
(c) Rights of persons with Disabilities (iii) Creche

(d) Pre-conception and pre-Natal Diagnostic iv) 21 Types

Techniques Act
Felt-1 1 Geli-11 9 gaferd i
eI Telt-11

(a) &Y fam safyEm (i) AT Yo

(b) HIged @ AfufEE, 2017 (i) SSA, RMSA, frersh faram
(c) TeaaiTsHl & sifysr (iii) hd

(d) T8 THYRY A T Y8 FREHS dedie A (iv) 21 TR

Choose the most appropriate answer from the options given below :

= feu T foaened H 9 Te9 e I IAT

(A)  (@)-(v), (b)-(), (o)-(iid), (d)-G)  (B) (@)-(iid), (b)-(ii), (c)-(iv), (d)-()
(©)  (@)-(id), (b)-(i), (©)-() (D-Gv) (D) (a)-(i), (b)-(iii), (c)-(iv), (d)-()
(E) Question not attempted / 3TIxIRA I

‘9 W A s v frefafed § @ @i w1 w2

(A) dren (B) WM™ (C) e

(D) sA3%d (E) STIARA T

For the sentence given below, choose the most appropriate answer in the passive form from the

options provided :
The Interpol arrested the spies and sent them to jail.

(A) The Interpol are arresting the spies and sending them to jail.
(B) The Interpol arrested the spies and will send them to jail.

(C) The Interpol arrested the spies and are sending them to jail.

(D) The spies were arrested by the Interpol and sent to jail.

(E) Question not attempted

frafafea A sR A g I €2

(a) feE = T9 H AR o (b) T T &I TE AR T
(c) € HdM % HRU W ¥ | (d) THA TSI & e AT |

() SHA Y ISl @H hl AT |

o feu TTu foaered H§ 9 Wa9 U ST AT FIH HIT

(A) e (a), (d), () (B) Fa (b), (¢, (d) (© (b, (¢, (e)
(D) 9 (a), (b), (d) (E) STIANT W
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60.

61.

62.

eIt 1% | gt 11 1 e it
T 1 et 11
TRET TR AT (e )
(a) fact =1 dTg KT () Hefas® *r T
(b) T&d I fadeh 1 TN (i) el 1 TE &
(c) ST W@ (iii) ST T qA 3T
(d) R HE H (iv) Troen § smen =t gtk

= feu U faehedl § W We® U ST A1 I HIT
(A)  (@)-(0), (b)-(iv), (o)-(iii), (d)-(1)  (B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
©)  (a)-(iii), (b)-(iv), (0)-(@), (d)-@) (D) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(E) STRa w7

gt 1 o |1 gt 11 1 fHam S
e 1 Tt 11
IR faem 91s%

(a) eH @) fafm

(b) eI (i) QHid

() IHER (i) forera

(d) TR (iv) oI

e 5T T foehedi # 9 Wor ST I hl = i :

(A)  (a)-(), (b)-(iii), (0)-(v), (D)-()  (B) (a)-(iid), (b)-(iv), (¢)-(1), (d)-(ii)
©  (@)-(i), (b)-(ii), (0)-(v), (D)-(G) (D) (a)-(0), (b)-(i), (o)-(iid), (d)-(iv)
(B) oTgaRa

Identify the odd word from the group of words given below relating to “tobacco’.
(A) Addiction (B) Subtraction (C) Division

(D) Equation (E) Question not attempted
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63.

64.

65.

66.

67.

Which of the following pairs are correct ?

(@) Touch - comforting and soothing

(b) Cleaning eyes - Hygiene

(c) Infant games - Visual growth

(d) Facial gestures - Language development

Choose the most appropriate answer from the options given below :

(A) (a) and (b) only (B) (b) and (c) only (©) (@), (c) and (d) only
(D) (a), (b) and (d) only (E) Question not attempted

frfrfaa & § F W 3 22

(a) T - 3T 3 SR HAr

(b) oE R HE - sl

() Ty - s g

d) =RFTEME - o9 o™

= fau e foaeedl # € wed 3uged W I ¢

(A) FT @ RE)  (B) F@ (b) W () (€ FH (@), () R ()

(D) 9 (a), (b) #R (d) (E) eaRkd 5e4

Two vessels A and B contain milk and water mixed in the ratio 5 : 2 and 8 : 5 respectively. Find the
ratio in which the contents of vessels A and B should be mixed to get a new mixture containing
milk and water in the ratio 9 : 4.

U A TR BH g SR U e 5:2 3R 8: 5 % UM # fAfyd T 1 9% AU T FifSQ
A 9 B & w=1df @i fafa &t weh T fagor are 2 99 g4 iR a1 ST 90 4 7

o

ERERIES

(A) 5:2 B) 9:7 (C) 5:3
(D) 7:2 (E) Question not attempted / 3TN T
Find the next number of the given series.

<t TR ot o fore eTedt Hen gy |

3,7,13,19, 29, ?

(A) 31 (B) 35 © 39
(D) 37 (E)  Question not attempted / 3TN G

Which of the following are the core rights of the children given by UNCRC ?
(a) Right to Survival (b) Right to Protection (c) Right to Equality
(d) Right to Development (e) Right to Participation

frefafed § 9 UNCRC g1 U 7T 9= & Ha IHwR &iH 9 8 2

(a) STLSHITeIAT sl YRR (b)  HI&I T SATIHR (c) HAMI T AR
(d) foerm 1 3TfereR (e)  Sfawfirr = AferepR

Choose the most appropriate answer from the options given below :

= e T foshedl H @ @eE IUFS AL H T HITST
(A) @), (b), (©) (d) (B) (@), (©) (), (e) ©) (@, (), (d) (e

(D) (b), (c), (d), (e) (E) Question not attempted / 3TIANT Fe
‘JI-9% W TS R ¥ T A § foRw R 1 Sy @ €2

(A) THHS (B) THHFE ) fewilw
(D) HIH T (B) orafa v
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68.

69.

70.

71.

Match List-I with List-II :
List-I List-I1

(a) Difficulty in oral language (i) Difficulty in learning the connection between
letters and sounds

(b) Difficulty in reading and writing skills (ii) Hyperactive

(c) Difficulty in social behaviour (iii) Difficulty in tying shoes
(d) Difficulty in motor skills (iv) Difficulty in understanding questions
-1 1 Feit-11 9§ GAferd i
eI -1 eIt -11
a) HifE® v # ®wfcTE i) & 9 STETSll o Hed ST GaY WG hics

b

( (

(b) UeH d fered & v H hics (i) oAfa wfra

(c) HHISTR SRR | Hicrs (i) W (AfEE) St § wicTs
(d) T F H HfoE (iv) W 9HEH H hicTs
Choose the most appropriate answer from the options given below :

= feu T faehedl § 9 Te® e I I

(A)  @-(v), (b)-(0), (o)-(i), (d)-GiD)  (B) (a)-(id), (b)-(iv), (c)-(3), (d)-(ii)
©  @-), B)-(id), ©-Gv), (@-G) (D) (@)-(i), (B)-G), (©-v), (d)-(i)
(E) Question not attempted / 3R I

Choose the most appropriate option to fill in the blank in the given sentence.

She has French name but infact she’s English, not French.
(A) the (B) a (€) an
(D) no article (E) Question not attempted

‘A’ started a business by investing some amount. ‘B’ joined “A” after 4 months and invested thrice
the amount of “A’. “C’ joined them after 2 more months and invested double the amount of “A’. If
the profit at the end of the year is ¥ 84,000, then the share of ‘B” in the profit (in ) is :

‘A A % TR e ek Tk e d YE oA 1 4 W W1g B gt it e A7 & e e 1 g
T | 39k T HIE 1% “C7, ‘A’ W AT IR TR a9 § S[S 71 | A a9 o 37d H 71 T 84,000 T <
‘B o1 oY (TTF H) H AN A1 it |

(A) ¥ 21,000 (B) ¥ 32,000 (C) % 28,000
(D) < 42,000 (E) Question not attempted / 3TN T
‘A T T A R I R Hed SUgEd el § 2

(A)  TFHE THY (B) TcIEY THM (C) &g WA
(D) wgsiife wm™ () eigaRd A
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72.

73.

74.

75.

Match List-I with List-II :

List-1I List-1I

Year Policy/Programme
(a) 2014 (i)  The National Policy for Children (NPC)
(b) 2016 (i) National Nutrition Policy
(c) 2013 (iii) India Newborn Action Plan (INAP)
(d) 1993 (iv) National Plan of Action for Children (NPAC)
Feit-1 &1 geit-11 9 gafad i

-1 -1

a9 fifer/ W™
(a) 2014 (i) U aretd (NPC)
(b) 2016 (i) T ooy Hifd
(c) 2013 (i) HRA eTd g 6wl e (INAP)
(d) 1993 (iv) == & foe I e A (NPAC)

Choose the most appropriate answer from the options given below :

= 5T T foehedt # 9 Wol SUHER W MY :

(A)  (a)-(id), (b)-(iii), (c)-(iv), (d)-(0) (B)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(©)  (a)-(iv), (b)-(ii), (c)-(1), (d)-(iii) (D) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(0)
(E) Question not attempted / 3TIxRA I

‘TR IR H ‘ot wissiel bt e § 9§ foRe A | ST S € 2

(A) T (B) S (C) R
(D) =M () AIURA 994

frefafed 8 9 #9198 o795 72

(A) dRomH (B) wRIem (C) wuo
(D) ¥R (B) eTgafd wed

What is child mortality rate ? (Select most appropriate option from below)

A) Total number of child deaths under the age of two years per 1000 live births.
B) Total number of child deaths under the age of two years per 100 live births.
C) Total number of child deaths under the age of five years per 1000 live births.
D) Total number of child deaths under the age of five years per 100 live births.
E) Question not attempted

‘o) gg < e 72 (1 H & Ao Sue SR )

A) 9fd 1000 Siferd ST W 2 99 W A Y o =1 bl o Sl FHol A |
B) ufd 100 Sifod SWf W 2 o4 € ¥ 3T & o=l i G hl Fal G&AT |
) T 1000 SHfad S W5 I ¥ A 377 o I=Al ! Jog hl ol HE&AT|
D) 9fd 100 Sifad Sl R 5 96 | &H 3T & F=l i T & ol GEA |
E) 3TaRd 99

& B62 19 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

76.

77.

78.

79.

80.

Expand BMI :
(A) Body Measure Indicator (B) Basic Measure Index
(C) Body Mass Index (D) Basic Mass Indicator
(E) Question not attempted
BMI &1 q0i ®9 ¢ :
(A) SIS A §Ehel (B) Ifeh TSI geo
(C) wiel A se (D) dfe A $ElheX
(B) SIARd v
=1 # 9 fore g | o e 2 § 2
(A) e FHE (B) ©5 @A (C) Tcqey qHH
(D) SgSife FHr (E) STARA WA
frefafed § § F q/EHH 9 I8 IS © 2
(a) b) oo ()
(d) foerd (e) WA
= feu U faehedl § § Wa® U ST A1 I HIWIT
(A) A (b), () () (B) o (a), (b), (d) (©) F (b), (c), (d)
(D) F (c), (d), () (B) STgaRa 5
eIt 1% |1 gt 11 1 e i

el 1 et 11

ATRATIT reieh ITs

S ShTel T Sfd o

(a) () =g
(b) TSER S 1% § geT & (i) g
(c) Uademkd=a e den (i) M
) wfEmafEad (iv) RTeTSTET
= feu U foaehedl § ¥ We® U ST A1 AT HIT

~—

(A)  (@)-0), (b)-(id), ()-(v), (d)-G)  (B) ()-(v), (b)-(1), (c)-(i), (d)-(iii)

(©)  (@-(), (b)-iid), ()-(0), (D-Gv) (D) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(3)

(B) 1gaia e

Which of the following is not an infectious disease ?

(A) Diphtheria (B) Osteoarthritis (©) Dysentery
(D) Tuberculosis (E) Question not attempted

frafafad 3 9 S T SR A9 76 § 2

(A) fewefifen (B) oiffiean snuififem () ufaw (fea=)

(D) duf<eh (SERAAEd) (B) 3Tl 99

& B62 20


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

81.

82.

83.

84.

Expand RMSA :

(A) Rashtriya Medical School Abhiyan

(B) Rational Madhyamik Shiksha Abhiyan
(C) Rashtriya Madhyamik Shiksha Abhiyan
(D) Rational Medical Stipend Allocation

(

E) Question not attempted
RMSA =1 faR &9 €

(A) T Afewha Tpa AfHEH
(B) Wra wreafyes foan i
(C) U mreafyes foan Afam
(
(

)
D) WHd Hfgehad RREU=S TellehsM

E) oTgaRa oed

A grocer has 80 kg rice, a part of which he sells at 8% profit and the rest at 18% profit. He gains
14% on the whole. What is the quantity of rice sold at 18% profit ?

T YOI o 19 80 Toh. 7M. =maret o, TSiHehT Teh 9N 361 8% oY W 9= 3R 99 18% 19 W o=l | STk
T THATRY 14% 1 @1 ol | 18% MY TR o< U F16el Sl |1 H1G hifIC |

(A) 58 kg/Tem.am. (B) 32 kg/fem.am. (C) 42 kg/fw.am.
(D) 48 kg/fen.7m. (E) Question not attempted / 3TN T
Children with may experience difficulty in responding to the regular forms of care
and discipline.
(A) Sensory organs (B) Disability (C) Behavioural issues
(D) Molar disability (E) Question not attempted
& Y T @IS 3R ST % FAfHd §9 § IR S H HfSTE H1 39T FR Thd ¢ |

(A) G 3 (B)  A&fHal (C) HTRRIHS T,
(D) Uk ST&THAT (E) sTafRa ued
Match List-I with List-II :

List-I List-II

Word Antonyms
(a) Approve (i)  Orthodox
(b) Scarce (i) Transparent
(c) Modern (iii) Disapprove
(d) Opaque (iv) Plenty

Choose the most appropriate answer from the options given below :

(A)  (a)-(iid), (b)-(v), (0)-(i), (d)-G1)  (B) (a)-(iid), (b)-(1), (c)-(iv), (d)-(ii)
(©)  (@-(), (b)-(id), ()-(v), (d)-() (D) (a)-(ii), (b)-(0), (c)-(ii), (d)-(iv)
(

E) Question not attempted
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85.

86.

87.

88.

89.

Which of the following is NOT an auditory stimulus for the infants ?
(A) Giving exposure to sounds of birds
(B) Making facial gestures
(©) Playing soft music
(D) Talking
(E) Question not attempted
frefafed § & e R & fau go & = €2
A) Oferl it ST A

(

(B) =& BIE- e A

(C) WYL G ST (Wi &)

(D) @d=Id

(E) ﬂﬂﬂi\{ﬂ L]

Choose the most appropriate option to fill in the blank in the given sentence.

We stayed at hotel in the town.

(A) cheap (B) cheaper (C) the cheapest

(D) the cheap (E) Question not attempted

A man buys a field of agricultural land. He sells one-third of the land at a loss of 20% and two-fifth

of the land at a profit of 25%. At how much percent profit must he sell the remaining land so as to
make an overall profit of 10% ?

% Afa TF F &7 Tlsd 1 98 39 9ff w1 & faer 9w 20 wfewd eift ) 9= <@ § eiR
2/5 @ 9T 25 FfAerd @Y W A= § | o ez 10 giaea Tegel @y & faw s@ 9w 9fi fhae gfaea
A RS =Y ?

(A) 25% (B) 20% Q) 18%

(D) 15% (E) Question not attempted / 3T T

Identify from the following the statement which is NOT true with respect to colostrum.
A) Colostrum contains immunoglobulin IgA.

B) Colostrum is rich in macrophages and lymphocytes.

C) Colostrum provides immunity to the respiratory tract of the infant.

D) Colostrum provides natural passive acquired immunity to the infant.

E) Question not attempted

= o 9 9 FYH FI TETY ST hIeiRSH & T H Te 8§ |
) iagA | sRErased IgA ffed g g

o~~~ o~ o~

>

B) hicirgH | farmaifimen 9 vahmeii § ¥E g g
C) hroirgd gt & 49 e Y YR YIH w2 |
D) iR oy 1 wehfass ffera (Afaa) sifsia wfawen wam < 71

o~ o~ o~ o~ o~

E) oIqaid Wl

Select the most appropriate option from the Hindi technical terms given below, for the English
word ‘Authentication’.

(A) fagw (B)  THIIUTR (C) vHEmiEa
(D)  GHIUfeROT (E) Question not attempted
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90.

91.

92.

93.

frfafed § @ ®F 9 eRg a9 § 2
(a) M9 fere TSt Heen ot 71 (b) Il i TSt A eI |
() U TEl § I& o1 e | (d) B A H geE T

(e) T off e & STy g3

e feu TTu foaered § 9 Wa® U ST A1 AT HIT :

(A) 9 (0), (d), () (B) % (a), (b), (o) (©) = (b), (d), (o)
(D) e (b), (¢), (e) (E) STIANT W

Which of the following is a bacterial disease ?

(A) Hepatitis B (B) Acquired Immuno Deficiency Syndrome

(C) Corona (D) Typhoid (E) Question not attempted
et § | hien I e § 2

(A) Rl - = (B) TS FELH SR fagr

(C) R (D) <ARES (B) oTafRd g

Identify the principles of development from the following :

(a) Development is sequential

(b) Development refers to quantitative changes in the body

(c) Development is a product of maturation and learning

(d) There are individual differences in development

Choose the most appropriate answer from the options given below :

(A) (a), (c) and (d) only (B) (b) and (d) only (©) (a) and (c) only
(D) (b), (c)and (d) only (E) Question not attempted

fr=fafea § 9 faem & fagial &1 Te=™ S :

(a) faoma swimw T

(b) o SRR & AR gREdHl sl H]fHd i 7 |
(©)

(d

faenma gfRuaear o TiEs i Weh 311 gl
) fowma # s Sm
= feu T foredl # 9 WoW 3uged S A |
(A) & (a), () R (d) (B) oI (b) R (d) (C) o (a) ¥R ()
(D) %dd (b), () 3R (d) (E) IaRd 9oA

Tt 1 |19 gt 11 1 e S
gt 1 et 11

B o vreg

g (i
b) gafe i) &=

(i
(i
= R 77 foshedl # @ HeE IUTSE A H =TI HIST

(A)  (a)-(iii), (b)-(ii), (0)-(i), (d)-(iv)  (B) (a)-(iii), (b)-(i), (0)-(iv), (d)-(ii)
(©)  (@)-(iv), (b)-(iii), (0)-(ii), (d)-(0) (D) (a)-(i), (b)-(ii), (0)-(iii), (d)-(iv)
(B) orafRd g
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94.

95.

96.

97.

98.

Fill in the blank in the given sentence by choosing the most appropriate word/words from the
options given below :

She is short tempered, interesting to be with.

(A) evenas (B) nevertheless (C) inspite

(D) meanwhile (E) Question not attempted

Choose the most appropriate answer from the options given in English for the Hindi technical

word ‘HaRl wa',

(A) travel costs (B) journey costs

(C) journey fare (D) conveyance allowance
(E) Question not attempted

The age specific acquisition of skills and competencies in each domain is called : (Choose the most
appropriate option from below)

(A) Development (B) Growth

(C) Delayed development (D) Development milestones

(E) Question not attempted

TR W H o1y faftre v oiR <& 1 eifsia e, Feen © ¢ (7 # § aod Sugea S &
)

(A) fawm (B) s
(C) forcdfera feremre (D) forehTETcHe: AETE (HIdT 1 TeeR)
(B) SIaRa v
gt 1 o |1 gt 11 1 e St

gt 1 Tt 11

IR ot vreg
(a) &M () T
(b) Tw (i)
(c) TR (iii) TR
(d) (iv) TeaA

= 5T T foehedi # 9 o ST I hl =T i

(A)  (a)-(i), (b)-(i), (c)-(iv), (d)-(iii) (B)  (a)-(ii), (b)-(iv), (c)-(1), (d)-(iii)

( ,
©)  (a)-(i), (b)-(iii), (0)-(iv), (d)-() (D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(B) oraRd g

Exposure of pregnant women to environmental pollution can seriously affect the developing

(A) Melocyte (B) Ovum (C) Sperm

(D) Foetus (E) Question not attempted

et wfeentst w1 TAieRoiiE Ugwor o ek § S % foehra sl 19t &9 | guiferd T Hehell
2l

(A) 3T TI wHiferh (B) 3Ty © A

(D) A7 (E) STgaRa 57
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99.

100.

101.

102.

Intellectual disorder in children include the following :

(a) Mental retardation (b) Delayed mental development

(c¢) Chronic depression (d) Mood swings

Choose the most appropriate answer from the options given below :

(A) (a), (b) and (c) only (B) (a) and (b) only (©) (c) and (d) only
(D) (b) and (d) only (E) Question not attempted

=l o slifge fohr # = 7 § wffead ©

(a) A HEd (b) ferciferd AT forehre

(c) Tk TaER (d) HF I« @l

= R T foehed! # € HoW Suga ST g ¢

(8) FH (), (b)) () (B) F (@) R (b) () A (0) ¥R (d)

(D) dd (b) &R (d) (E) oTFaRa w=d

Choose the most appropriate image option which resembles the mirror image of the given
combination from options below.

3 T S A du Bfa @ fHerd gy wed Suge B fased w1 = Hife

FUNFLIPS

(A)  edILAMUF (B)  2diLaNuA (©)  29ILANUF
(D)  eqi1anul (E) Question not attempted / ?ﬂﬂ?lﬁ_d ELSI

What should lactating mothers avoid eating ?

(A) Fruits and green vegetables (B) Tinned juices and preserved foods
(C) Pulses (D) Curd and milk

(E) Question not attempted

TAIH HO el TIa1sT sl 991 WH 9 91 F1fes ?

(A) A T &l afesar (B) fesameig S iR Tfera @ uqre
(C) =i (D) =& 3R 3™
(E) Tgafa wxd

Integrated Child Development Services (ICDS) projects are set up in backward and poor regions
and cover children who come from :

(a) landless families

(b) affluent farmers with high family income

(c) scheduled castes and scheduled tribes families

(d) families whose monthly income is less than Rs. 500/-

Choose the most appropriate answer from the options given below :

(A) (@), (b) and (c) only (B) (c)and (d) only (©) (a), (c) and (d) only

(D) (b) and (c) only (E) Question not attempted

Integrated Child Development Services (ICDS) TRATSHI TR qi fUes Samehl | N i ST TR
Sl ! WiAfad et § S fh q 1 £l

(a) YfHEH TRER

(b) A TIRATRG T et T7o= fohe aRar

(c) AYf=a sifd o srggfa SHsifd 9Er

(d) ufER fSmet wfas 31 500 9 ¥ w9 §

e 5T 7T foehedi H 9 HerE SUTS ST Hl =TI IS :

(A) e (a), (b) R (c) (B) Ha (c) ¥R (d) (C) = (a), () ¥R (d)
(D) e (b) 3R (c) (E) oTgid e
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103.

104.

105.

I 1% 91 gl 11 1 fiem i
eI 1 il
ATFATIT Teh 9%
(a) fordlt g o1 <item WM i) TR
(b) et IR y=id § (i) =qee
) % aR-=RiEa (i) =gate
(d) W9 & fRE g ot Sied Aty (iv)  =qHS

= feu U faehed § ¥ We® U ST A1 I HIT

(A)  (@)-(0), (b)-(iv), (o)-(iii), (d)-(1)  (B)  (a)~(iii), (b)-(iv), (c)-(ii), (d)-(3)
©  (@-(0), (b)-(i), (o)-(iid), (d)-Giv) (D) (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(E) STIANT W

Given below are two statements.

Statement I :  Transplacental transfer of immunoglobulin (IgG) from mother to the foetus is an
example of Artificial Passive Acquired Immunity.

Statement II : Injecting Anti Tetanus Serum (ATS) against tetanus is a case of creating Natural
Passive Acquired Immunity.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E) Question not attempted

A <1 e Ry T R

HITL: WA § YU Sl = () A AT (IgG) i Bl Tk Hid g s1fsia
e T 3 T |

w11 :  fooTg & fowsg U feoTw ¥ (ATS) &1 SSieRM™ 31, Urhfaer sk 1fsia ufaen &t w
affeafa %1

ST YA % e, 9 T T faened § 9 God SugE S A TIH BT ;
(A) wme I 3R II <A1 |t )

(B) R I 3 II ST Tord €

(C) AT 1 T T, Al SR 11 TTerd T |

(D) YT 1 704 §, WAfohd e 11 921 T

(E) STIRRa e

Development is the product of . (Choose most appropriate answer from below)
(A) Heredity (B) Environment (C©) Maturation and learning
(D) Height and Weight (E) Question not attempted

ferenmg 1 IR B 1 (A & | wod Suege STl 9H)

(A) AT (B) THfeRml (C) IRuwem 3R s

(D) T 3R g (E) oA7aRa o=
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106.

107.

108.

109.

Identify from the following, the food groups that make up a balanced diet.
(a) Vitamins and Carbohydrates (b) Proteins and Carbohydrates
(c) Fats and Minerals (d) Proteins and Fibres

(e) Vitamins and Minerals

Choose the most appropriate answer from the options given below :

(A) (b), (d) and (e) only (B) (a), (b) and (c) only

(©) (a), (c) and (d) only (D) (c), (d) and (e) only

(E) Question not attempted

Frefafeaa § @ =7 @ 9l & 9ea™ ®L Sl Sgfad STeR oA €|

(a) ToeIfm R weleEee (b) TIEH IR FETEESe
() = siRaf= (d) IRH SRW

(e) Tt oir @t

= R T foskedl H @ werE SUTR ST H =TI HIG

(A) % (b), (d) ¥R (e) (B) e (a), (b) 3 (0)
(C) I (a), (c) 3 (d) (D) e (c), (d) 3 (e)
(E) oTfaid 9

Among the following, what is the most appropriate full form of IEDC ?
A) Integrated Education for Disabled Children

B) Individualized Education for Disabled Children

C) Individual Efforts for Disabled Children

D) Integrated Efforts for Disabled Children

E) Question not attempted

IEDC % Ha¥ 3UgerT JUET 11 © ?

(A) BRI THIH FR fedacs fues

(B) SSIfa3TeEse TS[ehyM Bk fedses foace
(C) TEifagstal Thed ®R feddcs faced
(D)
(

(
(
(
(
(

D) 3=RIcE Q’ﬁﬁ TR fedace face

E) 3TaRd
ST + 391 = SRR 3R T | 9 TR Gy 1 wed Suge SR § 2

(A) TR EfY (B) ot dfy (C) W Hfy

(D) <dsH Hfy () AIURA 994

The present population of a village is 11,000. If the numbers of males increase by 11% and the

numbers of females increase by 20%, then the population will become 12,660. What is the present
population of females in the village ?

Teh a1 A SHEET 11,000 ¥ 1 A G i HEA 11% 3R Afgensii i 9@ 20% 5 Sl
SFEEAT 12,660 B ST | g # Afeensii i adH™ SHe foa 7 2

(A) 6,000 (B) 7,000 (C) 5,000

(D) 5,500 (E) Question not attempted / 3TN T
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110.

111.

112.

113.

frfafea § 9 enife’ o1 =99 ST :

(A) HFTST ETS LS (B) M TS TR T
(C) TS-WrR TH HTA (D) TTeR foram™ & B < urd
(E) Tgafa w=d

Fill in the blank in the sentence given, choosing the most appropriate word from the options
below :

The officer noticed a masked man coming out of the bank.
(A) security (B) emergency (C) safety
(D) watchman (E) Question not attempted

Identify the pillars of interventions of the India Newborn Action Plan (INAP), 2014.

(a) Care of healthy newborn

(b) Prevention of stunting, undernutrition and anaemia in young children and women
(c) Care beyond newborn survival

(d) Preconception and antenatal care

Choose the most appropriate answer from the options given below :

(A) (a), (c) and (d) only (B) (a), (b) and (c) only (©) (c) and (d) only
(D) (b) and (d) only (E) Question not attempted

gfean =EH TRE @ (INAP), 2014 % SKI&Yl & &l 1 98dM HIfIT

(a) T TS ht TG

(b) Bl AR Afeganrsii § sTawgd], ST9-UIT0 a1 Weqd § a1

(c) o forg) & Shifad ©F ¥ W I@ue

(d)  TTHYR T ST 9T @

= feu e foaered! # @ wed U W T ¢
(A) % (a), (c) 3R (d) (B) e (a), (b) 3R (c) (C) e (c) R (d)
(D) e (b) 3T (d) (E) STaRd W

Point R is 3 m. towards the East of point A.
Point S is 4 m. towards the South of point R.
Point H is 5 m. towards West of point S.
Point M is 4 m. towards North of point H.

fag R, fag A &% qd &1 3R 3 #. W

fog s, fog R & 3faor =it 3iR 4 WM. W T
fog H, fog s & dfem &t 3R 5 H. W T
fog M, fog H % S &t 3l 4 Hl. W1

Which of the following points are collinear points ?

foe & & A g T §2
(A) ARS (B) A RH <G ARM
(D) A S H (E) Question not attempted / 3T T
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114. Match List-I with List-II :

115.

List-I List-II

(a) Practice Play (i)  Representational system develops
(b) Dramatic Play (i)  First stage of Smilansky’s play
(c)  Symbolic Play (iii) Children use imagination
(d) Functional Play (iv) Major role of senses during play
Felt-1 1 Geli-11 9 gaferd St :
geit-1 Tqe-11
(a) HAWH @ () faffac sraeen w1 fowe
(b) R WA (i) IR Wl hi YoH STeel
() UdRIHE B (iii) == FHEIAT B TN FW §
(d) FEHF T (iv) ©A % A HAA A & Y

Choose the most appropriate answer from the options given below :

= fu T foeredl # 9 waW 3uged W g

(A)  (a)-(ii), (b)-(v), (0)-(), (D-1)  (B) (2)-(iv), (b)-(iii), (c)-(1), (d)-(ii)
(©)  (@-(), (b)-(), (0)-(iid), (D-Gv) (D) (a)-@1), (b)-(iid), ()-(iv), (d)-(ii)
(E) Question not attempted /ST T

Identify from the following diseases which can be caused due to sedentary life style of a person.

(@) Rickets (b)  Obesity (c) Thalassaemia
(d) Hypertension (e) Goiter

Choose the most appropriate answer from the options given below :

(A) (a), (e) and (d) only (B) (b), (c) and (e) only

(©) (b) and (d) only (D) (b), (c) and (d) only

(E) Question not attempted

= o | S I T veEiY S U At o fferet sfa el o HrRon 81 W ¥

(a) Them (b) e () Tt
(d) SERE=EM (e) e

= fRu T forredl # § woW Suged ST A ¢

(A) o (a), (e) AR (d) (B) e (b), (c) 3 (e)

(C) e (b) 3R (d) (D) e (b), (c) 3 (d)

(B) 1gaia e
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116. Match List-I with List-II :
List-I

Behavioural variations

(a) Delayed milestones
(b) Quiet and aloof
(c) Frequently asking questions
(d) Repeatative behaviours like banging
geit-1 1 geit-11 § gafad i
eI -1
wHeRR | fusard
(a) Tocifad A=A (Hia 1 9er)
(b) A SR TRl
() IR-9R Y g1

(d) T FEER S ¥H G THTA

GET IT ON
Google Play

List-1I

Domain

Cognitive

Physical and motor

Multiple domains Paediatricians
Socio-emotional

gt -11

A

EIEIRIC)
IR &R I

iii) o AT STeIfafReR
(iv)

qIfSeh AgeHS

Choose the most appropriate answer from the options given below :

= feu T faehedl H§ 9 Te® IUge I AT ¢
(A)  (@)-(), (b)-(), (o)-(iii), (d)-(v) (B)
(©)  (@)-v), (b)-(i), (c)-(iid), (d)-() (D)
(E) Question not attempted / 3TIART T

(8)-(0), (b)-({i), (c)-(iv), (d)-(ii)

(@)-(if), (b)-(iv), (c)-(1), (d)-(ii)

117. When was the national Early Childhood Care and Education (ECCE) Policy approved by the

Government of India ?

T YRS e s@ya AR f¥1em (ECCE) #ifd wRd R g1 &el O i Tt 2
(A) 2013 (B) 2012 (©) 2014

(D) 2015 (E)  Question not attempted/ SAI<Rd I

118. = I o |1e Gt 11 1 e Hife

gt 1 Tt 11
AEFETE T 91
(a) FEFIWMRIFIH (i) 9
(b)  foreu] =1 3R (i) HewfeaHN
() S v du= © (i) <EIRER
(d) T =1 IuE (iv) SoE

= T T foeredl & | Ho SUFE ST 1 =TT FHIWT

(A)  (a)-(iid), (b)-(iv), ()-(id), (d)-@)  (B) (a)-(iid), (b)~(iv), (c)-(i), (d)-(ii)
©  (@-(), (b)-(iid), (c)-(@v), (d)-G) (D) (a)-(i), (b)-(3), (o)-(iii), (d)-(iv)
(E) STgard ¥
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119.

120.

121.

Domains of development include :

(a) Physical and motor (b) Cognitive and moral

(c) Spiritual and evironmental (d) Socio-emotional and language
Choose the most appropriate answer from the options given below :

(A) (), (b), (c) and (d) (B) (a) and (b) only

(©) (a), (b) and (d) only (D) (c) and (d) only

(E) Question not attempted

foepma & STl # wffed ®

(a) YRR 3R I (A1) (b) FHEHS AR Afdw

() oTefHe TR ateRviy (d) HTISR - HEReTE SR 9T
= fRu T foredl # § woe Suged ST I ¢

(A) (@), (b), () 3R (d) (B) e (a) 3T (b)

(©) F (a), (b) ¥ (d) (D) FF (c) R (d)

(E) STIARA W

‘SABLA’ Scheme which was launched by Ministry of Women and Child Development, Government
of India applies to : (Select most appropriate option from below)
(A) all girls between the age group of 11 to 18 years.
B) all the women between the age group of 19 to 25 years.
C) all the girls between the age group of 6 to 18 years.
) all the women between the age group of 18 to 30 years.

E) Question not attempted

e (SABLA) s it fof wfgett T et forehr Halter, IR SR g I[E i TR €, an] gt § ¢ (e
H ¥ gl Suger foshe 9)

(A) 11 9 18 94 o H& 3T o &f G Fefehall W

(B) 19 ¥ 25 o8 & HeF Y ol bt Gt Afgennsti W

(C) 6 ¥ 18 =¥ % HeH 1Y o ohl Gt eTefohdl WX
(
(

)
D) 18 ¥ 30 94 o HeF 377G o ki Feft Afgensti W
E) STgaRa oo

Which of the following do not come under the maintenance of public hygiene ?

(a) Proper disposal of waste and excreta (b) Keeping the body clean

(c) Disinfection of water reservoirs (d) Consuming clean drinking water
Choose the most appropriate answer from the options given below :

(A) (a) and (c) only (B) (b), (c) and (d) only (©) (b) and (d) only
(D) (@), (c) and (d) only (E) Question not attempted

o o e

HfeAfEd H | I SR WEosdl & W@ & ST=id el 37l § ?
)

[

(a) IR o 7ol shi i Fe=hred (b) I H HH Tl

(c) SITTEl I FIeVE WEA (d) HIF T ST A1 STHA

1= fu 7 forredl # @ wa® U I A ¢

(A) FI (a) 3R (0) (B) F (b), (c) 3R (d) (C) e (b) 3R (d)

(D) e (a), () 3 (d) (E) raRd wed
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122.

123.

124.

125.

A started a business with X 1,40,000 and after 5 months, B joined A as his partner. After a year, the
profit is divided in the ratio 2 : 3. What was B’s contribution in the capital ?

A ¥ T R T 1,40,000 T ARG 9 Y& foRam 3R Ui W18 91E B, A ¥ WREIER % €9 § T 1| TH I
I AW T 2 : 3 F STUC H S T B HY Yot ANTEH fohan o 2

(A) T 2,80,000 (B) ¥ 3,20,000 (©) T 3,60,000

(D) < 3,00,000 (E) Question not attempted / TTART T

Put the following process of identifying children with disabilities in right sequence.
(a) Systematic observations

(b)  Screening

(c) Comprehensive evaluation

(d) Examination for the presence of risk indicators and protective factors.

STIIAreTl o 91 =l hl Y oht Uishal o f=fafad =won ol &t e | sFgafeed Sifa :

Sire (ShIfT)
c) oA HeHieh
d) T gEhih 3R T HRbI hl IuREfd i Sir=

b

(a) HIEATT Tt/ qefereTon
(b)

(
(

Choose the most appropriate answer from the options given below :

= fu T foedl & 9 HaW 3uged S g ¢

(A) (@), (b), (d), () (B) (b), (), (a), (d) (©) (9, (b), (d), (a)
(D) (b), (d), (a), (c) (E) Question not attempted / $TTARA T

Choose the most appropriate option to fill in the blank in the given sentence.

You're out of breath. ?
(A) Are you running (B) Have you run
(C) Have you been running (D) You had been running

(E) Question not attempted

frafafaa fasedi § 9 ' ofs - o’ k-0 o1 Tod U 19 § -
(A) & - gEA (B) Y - W (C) 3fg - Hefd
(D) ¥ - T (E) STIANT W
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126.

127.

128.

129.

Which conclusion would follow on the basis of the given statements ?

Statements : (a) All circles are triangles. (b) No triangle is rectangle.
(c) All squares are rectangles.

Conclusions : (i) Some triangles are squares. (i) Some triangles are circles.
(i) Some squares are rectangles. (iv) Some squares are circles.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(A) Only (i) and (iv) follow (B) Only (i) and (ii) follow
(C) Only (ii) and (iii) follow (D) Only (iii) and (iv) follow
(E) Question not attempted

frefafed wedl & STTER HiA-|1 FhE ST Fam ?

®wIT:  (a) 9t A ST (b) T ot TS Ta T 7 |
() @t ot ot €

fepd: () T (i) F B
(i) Fo T MG T (iv) IO algaE

ST HUHl h STErk §, e R T faewedl § ¥ dod Suged WA |
(A) HaA (i) 3R (iv) ST HE (B) had (i) 3R (ii) STTET HT
(C) Fad (ii) 3 (iii) STTERON K (D) e (iii) 3R (iv) ST HE

() AIURA 994
The pioneers of early childhood education in India does not include :
(A) Gijubhai Badheka (B) Tarabai Modek (C) Maria Montessori
(D) Mira Ben (E) Question not attempted
IR § YRfeR sed foen o qd syl | =1 § 9 i wfmfad 728 § 2
(A) TSI SR (B) dNETE HISH (C) e Hiewd
(D) RIS (B) ¥gaia oA
ST YR A T Rl T o Rl TR SHehT R e Wehe e T, I R HEd | 7
(A) @i (B) S (©) ¥
(D) FA (B) STqaRd wed
Match List-I with List-II :
List-I List-1I
(@) Anarchy (i)  Study of birds
(b)  Ornithology (i) Fear of water
(c) Congenital (iii) Absence of rule, law and order

(d) Hydrophobia (iv) By birth

Choose the most appropriate answer from the options given below :

(A)  (@)-(@), (b)-(iid), ()-Gi), (d)-Gv)  (B) (a)-(iid), (b)-(1), (c)-(iv), (d)-(ii)
©  (@-@v), (b)-(ii), (0)-(id), (d)-@) (D) (a)-(i), (B)-(iv), (¢)-(), (d)-(iii)
(

E) Question not attempted
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130.

131.

132.

133.

Which mineral is required in the formation of DNA and cell membrane ?

(A) Calcium (B) Iron (C) Phosphorus
(D) Sodium (E) Question not attempted

DNA Ter Sifret foedl & foior # &1 § @it it STeresha el ¢ ?

(A) Hfeerm (B) g (3TA) (C) TRITRRA

(D) difeam (B) orafd g

frrefafed § & Sga fohan &1 98 & § -

(A)  STRYETHE (B) wHIfdsYeh (C) wEgH
(D) AAHIEIH (B) oTaRd ¥

Given below are two statements :

Statement I:  Depending on the height and pre-pregnant weight of the woman, there is an
increase in body weight from 11 to 15 kg in pregnant woman.

Statement II :  The levels of glucocorticoids, thyroxine, aldosterone and parathormone increase
during pregnancy.

In the light of the above statements, choose the most appropriate answer from the options given

below.

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E) Question not attempted

HUFA[: Hfeel i g iR I THEE g9 o YR W, TYed! Afeel o Ik oo | 11 §
15 . . =t gfig ot ®

HYT I : TN o I TC[hIhI[ChIaSH, PRI, TeSRA 3R YUTHA H WR 9¢ Il ¢ |

YU HY o Sl H, 9 U e foeredi § 9 T8 SugeR ST ol I i :

(A) A 1 R I I w2 €

(B) R I 3R II I Terd & |

(C) M I TR ¥, Wfh SR I Tord

(D) R I 7ol §, Afeh aher 11 W&l )

(B) STfafd e

Marasmus in children is caused by the severe deficiency of :

(A) Proteins and calories (B) Vitamin A and carbohydrates
(C) Only proteins (D) Vitamin D and calories
(E) Question not attempted

=l H e I 1 TR FHHT % FROT A B |

(A) U q1 FaAs (B) foarfa-tu qen wEfEEgeH
(C) had Fre (D) foarfm-<t IR ks
(E) &AIORA 99
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134.

135.

136.

137.

A,E, H, K, R, S are sitting around a circular table facing the centre. H sits to the immediate right of
R. K sits second to the left of R. A sits second to the right of E. Who sits third to the right of A ?

A, E,H,K,R,S TR A % IR 311 % i T 9ed L SIS TLEIH, RF T IG A S gan el K,
RFFEHH TN R A EFIFH TN WHA WY A FH I H dER M WD G372

(A) E (B) K (C) H

(D) S (E) Question not attempted / 3T T

Match List-I with List-II :

List-I List-II
Vitamins Deficiency disease
(a) Vitamin B, (i)  Ariboflavinosis
(b) Vitamin B, (i) Scurvy
(c) Vitamin C (iii) Beri-Beri
(d) Vitamin B, (iv) Pellagra
Feit-1 &1 geit-11 9 gafad i
geit-1 Teit-11
fererfim CUICER R
(a) forarfda B, ()  STUEsIFAfaAITEY
(b) feref B, (i) el
(c) faaf C (iii) -
(d) foafs B, (iv) T

Choose the most appropriate answer from the options given below :

e 5T T foehedi # 9 Wal SUHER W T :

(A)  (@)-(v), (b)-(i), ()-(it), (D-(1)  (B)  (2)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
(©)  (@)-(ii), (b)-(v), (0)-(1), (d)-G) (D) (@)-(iii), (b)-(v), ()-(i), (d)-(1)
(E) Question not attempted / STTINT I

At 40 past 4 in the evening, the smaller angle between the hour and minute hands of a clock is :

T T 4 ISR 40 e T, =€l o He o e o ggai & 7" Bie S0 1 7 BT
(A) 85° (B) 90° (C) 95°
(D) 100° (E) Question not attempted / 3T T

Find the greatest from the following options :

14.28% of 700, 11.11% of 819, 9.09% of 704, 6.25% of 960

(A) 14.28% of 700 (B) 11.11% of 819 (C) 9.09% of 704
(D) 6.25% of 960 (E) Question not attempted

frfafed § 9 gesan 9 a1l fosed &1 9197 FifT :

700 <1 14.28%, 819 I 11.11%, 704 T 9.09%, 960 T 6.25%

(A) 700 =T 14.28% (B) 819 =1 11.11% (C) 704 =T 9.09%
(D) 960 <hT 6.25% () AIORA 994
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138.

139.

140.

On a certain sum, the difference between compound interest and simple interest at 10% p.a. for
2 years is ¥ 126. Find the sum. (in ).

& fafea o afer R 2 a4 ) wmEmafy & faw 109 9fa o o R =shgfg <At 3R Sm = 1 SR
3126 T1 ¥ T I HISC (TG H) |

(A) % 12,000 (B) % 12,600 (C) % 16,200

(D) % 10,800 (E) Question not attempted / TN T

The effects of lodine deficiency during pregnancy include : (Choose the most appropriate option)
A) mental retardation of the pregnant woman.
B

) congenital abnormalities in the pregnant woman.

(

(

(C) mental retardation and congenital abnormalities of the foetus.

(D) mental retardation as well as congenital abnormalities in the pregnant woman.
(

E) Question not attempted
e H STRISH & %H % yuE # wimfad (9 8 | wed Suged ST )

A) et dfget o AHdeh Hedl

(
(B)  Treferdt Higel H SIS STEMHRIATY

(C) YU & AMHH Tl iR SIS ST
(

(

D) ot afgen # AHfas Hedr iR SIS STEME=Ia
E) oTgad oo

Which of the following may be the consequences of sensory impairments ?

(a) Difficulty in interacting with the environment.

(b) Slowed development of language.

(c)  Occurrence of hereditary problems.

(d) Slowed socio-emotional development.

Choose the most appropriate answer from the options given below :

(A) (@) (b) ()and (d)  (B) (b) (c) and (d) only (©) (a), (b) and (d) only
(D) (c) and (d) only (E) Question not attempted

e 1 & T 72 ¥ RO P A w2

(a) STATERO/AREY ¥ TR fRa H sics

(b) HE o fereRTd

(c) STIAIYTRT THE T Hfed B

(d) #HE HHIfSIh - Hagedeh foaeh

= fu T fosedl # § waW 3uged S A ¢

(&) @, )@ (B) FF (b) (@) 7R (d) (©) 9 (a), (b) R ()
(D) F9@ () SR (d)  (F) SFIA 7
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141.

142.

143.

144.

145.

Read the following information carefully to choose the most appropriate answer for the question.
‘X+Y means that ‘X is sister of Y’.

‘X+Y means that ‘X is daughter-in-law of Y’.

‘X*Y” means that ‘X is husband of Y’.

‘X—=Y" means that ‘X is wife of Y.

¥ % T Hoe Suged foshed 1 =9 & o fau = § T SRR w1 SAYEE et |
‘X+Y' wad R fE X, Y & 9T R

‘X+Y'®waf B o X, Y FI 55 B

‘X*Y' @1 el T TR X, Y 1 U 7

‘X-Y' @ B TR X, Y U 2
Which of the following means A is the son of M ?

A A fraR e P A M AT I R?
(A) A=-U+J*M (B) A*U+J*M <G A-U=+]*M
(D) A*U+]-M (E) Question not attempted / 3TN T

What sum as given below will become X 11,780 in 3 years at 8% p.a. simple interest ?

8% Hfders WIURT TS ST ! TMOHT | 3 a9 o FHehel | 711 | 9 fepa1 &maidn 3 11,780 &1 St 2
(A) ¥ 8500 (B) 9000 (C) T 9500
(D) 9600 (E) Question not attempted / 3TN T

Fill in the blank in the sentence given by choosing the most appropriate word/words from the
options given below :

The meeting will be held the low attendance.

(A) even when (B) although (C) evenif
(D) inspite of (E) Question not attempted

TRl & 370 H T A R T A FLd § 7

(A) STE (B) g (C) =
(D) 9" () &ATINA 99

Which of the following is NOT the most appropriate example of fine motor development during 3
to 6 years of age ?

(A) Putting on clothes properly

(B) Catching a bounced ball.

(C) Managing a spoon and fork properly while eating.

(D) Drawing a circle, square, triangle.

(E) Question not attempted

A d A A W3 T 6 a8 TF ol oY & S G50 W [T (FEA IR SaaTi=) & T qad
SR IETEL TR © 2

(A) HUS hI 3fed FHR F T&=

(B) T B! g dicl l Tehedl

(C) WM W T9d T9F T Hic T Tk o T

(D) T o, =, Tt o1 e Wie1 (ST
(

E) TdRd 99
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146.

147.

148.

149.

150.

Expand DPT, select correct answer :

(A) Diphtheria Pertussis Tetanus

(B) Diphtheria Pneumonia Tetanus

(C) Diphtheria Pneumonia Tuberculosis
(D) Dengue Pertussis Tuberculosis

(E) Question not attempted

‘DPT’ o foar shifIe, W@ S T4 ¢
(A)  fewefifen vwdfag feeg

(B) fewefiftan =gHifan feetd

(C) Teueliftan =i S[eRGaiay
(

(

)
D) <7 wfeE Sy
E) Sffafd e

For the sentence given below, choose the most appropriate answer in its comparative degree from
the options provided.

No other State in India is as clean as Kerala.

(A) Kerala is the cleanest State in India.

(B) Kerala is cleaner than any other State in India.

(C) Kerala is very clean.

(D) All other States are not as clean as Kerala.

(E) Question not attempted

Which of the following are not the beneficiary of an Anganwadi ?

(A) Pregnant mothers (B) Senior citizens (C) Children (0-6 years)
(D) Nursing mothers (E) Question not attempted

=1 G o TSt ot et & § 2

(A) et Afgamd (B) g ATk (C) = (0-6 I¥)

(D) UM I S 7@ (E)  STARd T

In a college election between two candidates, one candidate got 45% of the total valid votes. 20%
of the votes were invalid. If the total votes were 14,500, then what is the number of valid votes
which the other candidate got ?

T HRIfoRed | <1 YAl o He A6 H Ueh G bl el H ald bl 45% 9T g3T 1 20% e
ST 9| A el die 14,500 &, T 3T YARN bl T 91 bl fohd1 & I B8 2

(A) 6,380 (B) 5,220 (C) 6,525

(D) 7,975 (E) Question not attempted / 3TIANT T

Choose the most appropriate reported form of the sentence given from the options provided.
The manager said, “Is Mira leaving early ?”

(A) The manager asked if Mira was leaving early.

(B) The manager inquired if Mira is going to leave early.

(C) The manager demanded to know if Mira was leaving early.

(D) The manager said whether Mira was leaving early.
(E) Question not attempted

-00o0-
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